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Problem 1
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Problem 2
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Problem 3
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Problem 4
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Problem 5
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Problem 6
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Problem 7

SRR T — I RBR BEPL A B AR HES (identity permutation) SR EEHES .
bt 7R ANA

Algorithm 1 Permute Without Identity
Input: an array A of length n

Output: a uniform random permutation of A
l:fori=1ton—1do
2. swap A[i] with A[Ranpom(i+ 1,n) |
3: end for
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Problem 8

SRR AL H VU T i A R 7 A — 1y S REHLHES -

Algorithm 2 Permute By Cyclic

Input: an array A of length n
Output: a uniform random permutation of A
1: let B[1..n] be a new array
2: of fset = Ranpoom(1,n)
3:fori =1tondo
4: dest =i+ of fset

5 if dest > n then

6: dest = dest — n
7 end if

8:  Bldest] = Ali]

9: end for

10: return B

HULREEAICR Al HIAE B AR fRr 2 ML E AR 1/n o X5 B HES 4521
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Problem 8 continued on next page... 9
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